
 WE060−1, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE060−2, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold: ts=0.007

log[LaMaSaUaVa]−logVa
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE060−3, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE060−4, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold: ts=0.007

log[LaMaSaUaVa]−logVa
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE060−5, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE060−6, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold: ts=0.007

log[LaMaSaUaVa]−logUa
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE060−7, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE060−8, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold: ts=0.007

log[LaMaSaUaVa]−logUa
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE061−1, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE061−2, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold: ts=0.007

logVa−log[LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE061−3, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE061−4, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold: ts=0.007

logVa−log[LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE061−5, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE061−6, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=575
Adaptation: λSM=525

Threshold: ts=0.007

logUa−log[LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo − 0.05
logMa= logMo + 0.12
logSa= logSo + 0.66
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 WE061−7, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold
ts=0.007

log [LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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 WE061−8, Change of LMS in volour vision; Adaptation

λ /nm

Adaptation: λLM=475
Adaptation: λSM=525

Threshold: ts=0.007

logUa−log[LaMaSaUaVa]
logUa = 0,5 [logLa+logMa]
logVa = 0,5 [logSa+logUa]

logLa= logLo + 0.37
logMa= logMo − 0.3
logSa= logSo + 0.66
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Logarithmic cone sensitivity and ratios or differences
BAM-test chart no. WE06; colour vision and adaptation input: cmy0* setcmykcolor

output: no change compared to input

www.ps.bam.de/WE06/L06E00N1.PS/.TXT; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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